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BN g TR By | #8 L=S1i EBER e
LESEBFRRAMX (558 /DK) EREFHRE (F18)
TEERREE
SRE RS = 1 10,870,000 |@---®+®
TR = 1 7,070,000 |®:--@+@®
BRI = 1 4,703,078 |®---©O+®@
BEAME = 1 4,395,400 |©
et = 1 149,200 149,200 |fffizk— 1
{RZEETiE = 1 41,268 41,268 |fififik — 2
BMEORE(SR) = 1 2,024,178 2,024,178 |ffik - 3
BRaBE0ETE = 1 976,978 976,978 (i — 4
BRaBREDR A ERIEDIER = 1 114,184 114,184 |ffiR - 5
ER&BRADRA = 1 1,089,592 1,089,592 |ftfifik— 6
BERE = 1 307,678 |@
MBS = 1 307,678 |EEAME OKEHEERO x7%
R = 1 2,366,922 |®
TR = 1 2,366,922 |®xa/ (1 -a) a=35%
— R EIRE = 1 3,800,000 |®xB/ (1 -B) PB=35%---® X
EFME A5t = 1 10,870,000 |@
THEMEFIRSEA = 1 1,087,000 (@+x10%
FHREEE = 1 11,957,000
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iR 2 IR
RifiE 3 @nS0H

eS| fiAE & i ol i

FAESED 57,400 57,400

FIaethE ETA 51,200 51,200

F2EmB 40,600 40,600

B 149,200

(EEATE) 149,200
eS| fiAE & i ol i

VEEEHEDEE FAESED 57,400 21,812

ETA 51,200 19,456

5 41,268

(BIEAME) 41,268

mEE) 2 sy

% AR ARSI B i iy ia) 1
REEWA 70m2_F130m2Ki 2 108,216 216,432 [{{fiZx
RIEZYA 130m2L E200m2K5iE 1 139,626 139,626|ffizk
REEWA 200m22 £300m2KiiE 1 193,734 193,734 |l
FIARIEZEY) 50m2KiiE 2 57,412 114,824 |Hffizk
IERSENA 200m2KjiE 1 128,770 128,770| ik
IERSIENA 600m2L4 F1,000m K 4 307,698 1,230,792|ffiz

5t 2,024,178

(EEATE) 2,024,178




AREEYIA 70mz2LLF130m2555 1 D
2 TR wi | %8 8 258 i =
ZEMA A 0.76 51,200 38,912
FEfB A 0.76 40,600 30,856
$ZEMC A 0.96 32,800 31,488
20| A 0.24 29,000 6,960
B 108,216
(BN FE) 108,216
AEEma 130m2ElF200m2kss S 571
2 TR wi | %8 8 258 i =
ZEMA A 0.98 51,200 50,176
i ETB A 0.98 40,600 39,788
$ZEMC A 1.24 32,800 40,672
20| A 0.31 29,000 8,990
B 139,626
(BN FE) 139,626
AEEma 200m2Bl E300m2kiE S 571
2 TR wi | %8 8 258 i =
ZEMA A 1.36 51,200 69,632
FETB A 1.36 40,600 55,216
$ZEMC A 1.72 32,800 56,416
20| A 0.43 29,000 12,470
B 193,734
(BN E) 193,734
EATSEY) Usomzem T 1 fgagp T
2 TR wi | %8 8 258 i =
ZEMA A 0.43 51,200 22,016
FETB A 0.44 40,600 17,864
$ZEMC A 0.34 32,800 11,152
20| A 0.22 29,000 6,380
B 57,412
(B AFE) 57,412
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- fMmx 3-5 FEAREENA 200m2E i)

_______________________________ B 1 AR A ==livi B2 B S8 1% =
_______________________________ A A 0.84 51,200 43,008
_______________________________ XETB A 0.96 40,600 38,976
_______________________________ $EMC A 1.17 32,800 38,376
_______________________________ Kt g A 0.29 29,000 8,410
_______________________________ 5 128,770
_______________________________ (BIEAHE) 128,770
ORME 3-6  Jeksmml 600m2LLE1,000mAs 2
_______________________________ B 1 AR A ==livi B2 B S8 1% =
_______________________________ A A 2.01 51,200 102,912
_______________________________ ETB A 2.29 40,600 92,974
_______________________________ $EMC A 2.79 32,800 91,512
_______________________________ &itiE A 0.70 29,000 20,300
_______________________________ 5 307,698
_______________________________ (BIEAHE) 307,698

R 4 R aE S ——————
_______________________________ %W FARSTE j==v) B = ==} .l L] =
_______________________________ AIEEYA 70m2KiiE R 2 36,048 72,096 |#k4fE 4 — 1
_______________________________ ARIEEYA 70mz2L_£130m2Ki R 2 45,934 91,868|#kffiE 4 — 2
_______________________________ RIEZYIA 130m2 E200m2KE 1R 1 59,324 59,324|ftfix 4 - 3
_______________________________ RIEZEMA 200m2 E300m25KiiE 53 1 81,982 81,982|ftffiz 4 — 4
_______________________________ FEARISIEYA 200m2Kii R 1 63,964 63,964 |1%Mfi&x 4 -5
_______________________________ FEARIEIEA 600m2L 1,000 =i R 4 151,936 607,744|4fi%E 4 -6
_______________________________ 5 976,978
_______________________________ (EEAHE) 976,978
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RIEZEYIA 70m2Ki R EU)
% W AR A BT B 8 B ffli BER 1 =
FREPA A 0.30] 51,200 15,360
1ETB A 0.00] 40,600 0
JRERC A 0.56| 32,800 18,368
L] A 0.08] 29,000 2,320
: 36,048
(EEAMTE) 36,048
RIEEIA 70maEi3omakiEs gy
% W FARSTE BT B 8 B ffli BER 1 =
FREPA A 0.38] 51,200 19,456
1ETB A 0.00] 40,600 0
JRERC A 071]  32,800] 23,288
] A 0.11] 29,000 3,190
: 45,934
(EEAMTE) 45,934
RIEEIA 130m2F200m2kiE gy
% W FARSTE BT B 8 B ffli BER 1 =
FREPA A 049] 51,200 25,088
1ETB A 0.00] 40,600 0
JRERC A 092 32,800 30,176
] A 0.14] 29,000 4,060
: 59,324
(EEAMTE) 59,324
K@ T 200m2EF300makim gy
K ARSI (T H 8 I iy ic) 1 =
TREDA N 0.68] 51,200 34,816
) A 0.00] 40,600 0
FRERC A 1.27| _ 32,800] 41,656
e A 0.19] 29,000 5,510
: 81,982
(EEAHE) 81,982
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- fMmx 4-5 FEAREENA 200m2E i)

_______________________________ B 1 AR A ==livi B2 B S8 1% =
_______________________________ A A 0.52 51,200 26,624
_______________________________ $ETB A 0.00 40,600 0
_______________________________ $EMC A 1.05 32,800 34,440
_______________________________ Kt g A 0.10 29,000 2,900
_______________________________ 5 63,964
_______________________________ (BIEAHE) 63,964

kMR 4-6 seAsEm 600m2Ll F1,000maAm N R
_______________________________ B 1 AR A ==livi B2 B S8 1% =
_______________________________ A A 1.23 51,200 62,976
_______________________________ $ETB A 0.00 40,600 0
_______________________________ $EMC A 2.50 32,800 82,000
_______________________________ Kt g A 0.24 29,000 6,960
_______________________________ 5 151,936
_______________________________ (BIEAHE) 151,936

MR 5 EmmEsosENSofm 0 I
_______________________________ %W FARSTE j==v) B = ==} .l L] =
_______________________________ S E R EDVERK, FEFIE 7 16,312 114,184 |14k 5 -1
_______________________________ 5 114,184
_______________________________ (BIEAHE) 114,184

L AMEER oL SENEoRs T R
_______________________________ B 1 AR A ==livi B2 B S8 1% =
_______________________________ FEFED A 0.04 57,400 2,296
_______________________________ $AHA A 0.12 51,200 6,144
_______________________________ $EMC A 0.24 32,800 7,872
_______________________________ 5 16,312
_______________________________ (EEAHE) 16,312

9 R—=T




fdifix 6 . BRI 1 R

_______________________________ E=I )] FARSTE j==v) B = ==} .l ]
_______________________________ EFREIEsH TERE 7 155,656| 1,089,592tk 6 — 1
_______________________________ £t| 1,089,592
_______________________________ (BIEAHE) 1,089,592
RMiE 6-1  mmasEms T
_______________________________ % W AR A ==livi B2 B S8 1%
_______________________________ FEFED A 0.08 57,400 4,592
_______________________________ $AHA A 1.65 51,200 84,480
_______________________________ $EMC A 2.03 32,800 66,584
_______________________________ 5 155,656
_______________________________ (EEAHE) 155,656
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